CC Coordinate Algebra
         Unit 3a – Linear and Exponential Equations
Test Review


Name: ________________________




Date: ____________
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For each of the functions find the following information.

1. 

Domain: __________________________
Range: ___________________________

x-intercept(s): ____________________

y- intercept(s): ____________________

Increasing: _______________________

Decreasing: ______________________

Max / Min: ________________________

End Behavior: _x(∞,y(__ x(-∞,y(__
2. 

Domain: ___________________________
Range: ____________________________

x-intercept(s):______________________

y- intecept(s): _____________________

Increasing: ________________________

Decreasing: ________________________

Max / Min: _________________________

End Behavior: __ x(∞,y(__ x(-∞,y(__



Function Notation.  Find the requested value given the following three functions. 
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hx=x-3x
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h-2


5. g(x) - h(x)
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 Evaluation Functions:
6. f(2) = _____
7. f(4) = _____
8. f(__) = 8
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10.  





Find the rate of change. 

11.  
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12.  
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fx=-2x+4
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when x=2 and x=-3


13. Find the rate of change from 2 years to 4 years.

	t (Years)
	1
	2
	3
	4

	f(t)
	4
	8
	10
	16




Sequences
14. Write an explicit and recursive rule for the nth term. Find a50.

1, 5, 9, 13, … 
15. Write an explicit and recursive rule for the nth term.  Find a8.

8, 16, 32, 64, …


Comparing Functions
16.  Tim and Tom are twins.  They both want to become good free throw shooters.  They each devise a separate workout plan to get better at shooting free throws.  Tim is going to start with 50 shots and increase by 20 each day.  Tom is going to start with 20 and increase by 25 each day.
a) Write a function for each person.

b) At what point is Tom shooting more free throws than Tim.  Find the point graphically and algebraically.
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